Calculus Log and Exponents Practice #3

Solve:

2. X =logs 0.014

3. In2X =5

X+1 __ 2187
4. Fri=3

x—1 _
5. logs (——) =2

6. Vel®x =221

Solve for X in terms of k:

7. log; (X +5) =k

er

8. = k2
4

Solve:

9. logip (X—6) + logio (X —4) = logio (8)

10. In@X-7)—In(X+5)+1In(5)=In(2x-23)
11. log. (X + 3) = 3 + log, (2X)

12. log X—=5) +log, (x—4) =1

13. 2InX—-1=0

14. log, (3X—6) +log, X—4) —log, 2x—-1) =0

Solve for X in terms of k:

15. |Ogg (X) = |Og3 K+ 2

k
16. e¥=e?+e



Answers: Calculus Log and Exponents Practice #3

Solve:

1. e'=1.6 XIne=In1.6 X=In1.6

2. X =log, 0.014 9" = 0.014 XIn 9 =1In0.014
3. In2x=5 e =gd 2x = e°

g+1 _ 2187

=3 37 +1 = 2187

(2X + 1) In 3 = In 2187

x—1

-1 _ -1
5. |ogg-,("2 y="2 57 ) =52 X

2

= 0.04

6. Vel®x =221 el =221 (1.8 X) te = In 22.1

Solve for X in terms of k:

7. log, (X +5) =k 7109 (c+5) — 7k X+5=7
e2X > 2X 2 en(2X)
8. e k e’ = (2k) n =21In2k

Invalid solutions are shown struck out:

9. logio (X —6) + logio (X —4) = logio (8) X-6)X—-4) =4

10. In (4X—7) —In (X + 5) + In (5) = In (2X — 3)

11. log, (X + 3) = 3 + log, (2X) X + 3 =8 x 2X

12. log, (X —5) + log, (X —4) = 1 (X —5)(X—4) =2

13. 2Inx—-1=0 In(x>» =1Ine X>—e=0

Bx—-6)(x—-4) _

1
2x—-1

14. log, (3X — 6) + log, (X —4) —log, (2X — 1) =0

Solve for X in terms of k:

15. |Ogg (X) = |Og3 K+ 2 |Ogg (X) = |Ogg k + |Ogg 9 |Ogg (X) = |Ogg ok

16. ¥ =e? + & e =e 3Xx=k+2

X =0.470
X =71.943
X=74.2
X=3

X =1.08
X =1.7198
x=7_5
X = In 2k
X=8 er2
X=4o0r25
X=0.2
X=6 er3
X =+e er=fe

X=5 eri166




